/VJ";"#{':E’
2 7=
= xe ]
8 S
z =
2 2
No.l |No. 2
s 3oz
z
Vel DE |\ &L
8
5 g
2 2
No.Z |No.#| WNo. b5
20A. |/5:4| £LoA-
g
3
3 =
S0ore /238 /938 I8 | s 4
2 b
= s No.9 %
o, ?- ‘¢ %'3 2‘?# & 2
2o 4. 7| 5 20m. &
: 7z 1| Notf
/76 27 107 3 3 Py e
T :: g g M
g i 3
/23.8 =
No./o 7
/ 7 3R _
7 Z o
Z =
70 /23.8 /1938 |z
408.6
%
Ve, 72
Scale 2 £ i o 3 e
= - - >
ca oo kFrs, e i 2| N /2
4 44 7
2
/
|
T
Ve
2% 7g
!
/
l{CE?'z.’fH‘y Lhes 75 a Ltrwue and 2 )
Correct ple? oFf Fbe wWitive & %E g
Timmors O rvee. I W
szfez:r P e e Pansd arndd Seg,/
ok afﬁ,ce FL Eﬂ?aryJ 7@.1'#..: ?‘f«‘j'f..r
e =2 c?"aﬁ,r of Cetobar /g 5/
m
e EE':?!"J#-:- T h. L5
Fa
P

Sketch File No. 10
County Rains



